
III

,
,
(),
,
,
 σ_1, σ_2

σ_3

9.

$\sigma_1, \sigma_2 \quad \sigma_3$
,
 $f(x, y, z)$
,
 $\sigma_1, \sigma_2 \quad \sigma_3$
 $\sigma_1, \sigma_2 \quad \sigma_3$
 $\sigma_1 = x + y + z, \sigma_2 = xy + yz + zx \quad \sigma_3 = xyz,$
 $f(x, y, z)$

$$1. \quad x^3 + y^3 + z^3 - 3xyz, \quad s_k, \quad s_3 = \sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3,$$

$$\begin{aligned} x^3 + y^3 + z^3 - 3xyz &= s_3 - 3\sigma_3 = (\sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3) - 3\sigma_3 \\ &= \sigma_1^3 - 3\sigma_1\sigma_2 = \sigma_1(\sigma_1^2 - 3\sigma_2) \\ &= (x + y + z)[(x + y + z)^2 - 3(xy + yz + zx)] \\ &= (x + y + z)(x^2 + y^2 + z^2 - xy - yz - zx) \end{aligned}$$

$$2. \quad 2x^2y^2 + 2x^2z^2 + 2y^2z^2 - x^4 - y^4 - z^4 \quad s_k$$

$$\begin{aligned} &O(x^k y^k), \\ 2x^2y^2 + 2x^2z^2 + 2y^2z^2 - x^4 - y^4 - z^4 &= 2O(x^2 y^2) - s_4 \\ &= 2(\sigma_2^2 - 2\sigma_1\sigma_3) - (\sigma_1^4 - 4\sigma_1^2\sigma_2 + 2\sigma_2^2 + 4\sigma_1\sigma_3) \\ &= -\sigma_1^4 + 4\sigma_1^2\sigma_2 - 8\sigma_1\sigma_3 \\ &= \sigma_1(4\sigma_1\sigma_2 - \sigma_1^3 - 8\sigma_3) \end{aligned}$$

$$\sigma_1 = x + y + z.$$

$$x, y, z, \quad x - x,$$

$$y - y, \quad z - z.$$

$$x + y + z, \quad -x + y + z, \quad x - y + z, \quad x + y - z.$$

$$2x^2y^2 + 2x^2z^2 + 2y^2z^2 - x^4 - y^4 - z^4 = (x + y + z)(-x + y + z)(x - y + z)(x + y - z)P(x, y, z) \quad (*)$$

$$P, \quad P, \quad \dots P.$$

$$(*) \quad , \quad x, y, z$$

$$x = y = z = 1, \quad 3 = 3P,$$

$$P = 1.$$

$$2x^2y^2 + 2x^2z^2 + 2y^2z^2 - x^4 - y^4 - z^4 = (x + y + z)(-x + y + z)(x - y + z)(x + y - z).$$

$$x, y, z$$

$$\sigma_1, \sigma_2, \sigma_3,$$

$$\sigma_1, \sigma_2, \sigma_3.$$

11.

$$a^4(b^2+c^2-a^2)^3+b^4(c^2+a^2-b^2)^3+c^4(a^2+b^2-c^2)^2,$$

$$a^4+b^4+c^4-2a^2b^2-2b^2c^2-2c^2a^2.$$

12.

$$a^3+b^3+c^3 \quad a, b, c \quad a+b+c \quad 6,$$

$$6.$$

10.

1.

$$(x+y+z)(xy+yz+zx)-xyz=(x+y)(y+z)(z+x).$$

$$\sigma_1, \sigma_2, \sigma_3,$$

$$\sigma_1\sigma_2 - \sigma_3.$$

$$(x+y)(y+z)(z+x) = x^2y + x^2z + z^2x + z^2y + y^2z + y^2x + 2xyz$$

$$= O(x^2y) + 2\sigma_3 = (\sigma_1\sigma_2 - 3\sigma_3) + 2\sigma_3 = \sigma_1\sigma_2 - \sigma_3$$

(

$$O(x^2y) = \sigma_1\sigma_2 - 3\sigma_3).$$

2.

$$x+y+z=0,$$

$$x^4+y^4+z^4=2(xy+xz+yz)^2.$$

$$s_4 = x^4 + y^4 + z^4$$

$$x^4 + y^4 + z^4 = s_4 = \sigma_1^4 - 4\sigma_1^2\sigma_2 + 2\sigma_2^2 + 4\sigma_1\sigma_3.$$

$$\sigma_1 = x+y+z=0,$$

$$\sigma_1^4 - 4\sigma_1^2\sigma_2 + 2\sigma_2^2 + 4\sigma_1\sigma_3 = 2\sigma_2^2,$$

$$x^4 + y^4 + z^4 = 2\sigma_2^2 = 2(xy+yz+zx)^2,$$

3.

$$x+y+z = x^2 + y^2 + z^2 = x^3 + y^3 + z^3 = 1,$$

$$xyz = 0.$$

!

$$\begin{cases} \sigma_1 = 1 \\ \sigma_1^2 - 2\sigma_2 = 1 \\ \sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3 = 1 \end{cases} .$$

$$\sigma_2 = 0 \quad \sigma_3 = 0 . \quad \sigma_3 = 0$$

$$xyz = 0 .$$

4. , x, y, z, u, v, w

$$\begin{aligned} x + y + z &= u + v + w \\ x^2 + y^2 + z^2 &= u^2 + v^2 + w^2 , \\ x^3 + y^3 + z^3 &= u^3 + v^3 + w^3 \end{aligned} \quad (*)$$

$$x^n + y^n + z^n = u^n + v^n + w^n .$$

x, y, z

$\sigma_1, \sigma_2, \sigma_3$

u, v, w

τ_1, τ_2, τ_3 .

(*) ,

$$\sigma_1 = \tau_1, \quad \sigma_1^2 - 2\sigma_2 = \tau_1^2 - 2\tau_2, \quad \sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3 = \tau_1^3 - 3\tau_1\tau_2 + 3\tau_3 .$$

$$, \quad \sigma_1 = \tau_1, \quad \sigma_2 = \tau_2 \quad \sigma_3 = \tau_3 . \quad \varphi(t_1, t_2, t_3)$$

:

$$\varphi(\sigma_1, \sigma_2, \sigma_3) = \varphi(\tau_1, \tau_2, \tau_3) .$$

$$, \quad f(x, y, z)$$

$$f(x, y, z) = F(\sigma_1, \sigma_2, \sigma_3) \quad f(u, v, w) = F(\tau_1, \tau_2, \tau_3) ,$$

$$x^n + y^n + z^n = F(\sigma_1, \sigma_2, \sigma_3) = F(\tau_1, \tau_2, \tau_3) = u^n + v^n + w^n ,$$

..

$$x^n + y^n + z^n = u^n + v^n + w^n$$

2

$$s_4 = x^4 + y^4 + z^4 ,$$

$$\sigma_1 = x + y + z = 0 .$$

$$\sigma_2 \quad \sigma_3 \quad \sigma_1 = 0 .$$

$$s_k, k \in \mathbb{N} ,$$

$$\sigma_1, \sigma_2 \quad \sigma_3 \quad \sigma_1 = 0 .$$

$s_k = x^k + y^k + z^k$	$\sigma_2 \quad \sigma_3,$
$\sigma_1 = 0$	
$s_1 = 0; \quad s_2 = -2\sigma_2; \quad s_3 = 3\sigma_3; \quad s_4 = 2\sigma_2^2; \quad s_5 = -5\sigma_2\sigma_3, \quad s_6 = 3\sigma_3^2 - 2\sigma_2^3,$ $s_7 = 7\sigma_2^2\sigma_3, \quad s_8 = 2\sigma_2^4 - 8\sigma_2\sigma_3^2, \quad s_9 = 3\sigma_3^3 - 9\sigma_2^3\sigma_3, \quad s_{10} = -2\sigma_2^5 + 15\sigma_2^2\sigma_3^2 \dots$	

$$O(x^k y^l),$$

$$\sigma_2 \quad \sigma_3 \quad \sigma_1 = 0.$$

$$O(x^5 y^2) = O(x^5)O(x^2) - O(x^7) = s_5 s_2 - s_7 = (-5\sigma_2\sigma_3)(-2\sigma_2) - 7\sigma_2^2\sigma_3 = 3\sigma_2^2\sigma_3$$

($\sigma_1 = 0$).

5. $x + y + z = 0 \quad xy + xz + yz = 0,$

$$3(x^3 y^3 + y^3 z^3 + z^3 x^3) = (x^3 + y^3 + z^3)^2.$$

$$O(x^k y^l)$$

$$\sigma_1, \sigma_2 \quad \sigma_3, \quad \sigma_1 = 0 \quad \sigma_2 = 0,$$

$$x^3 y^3 + y^3 z^3 + z^3 x^3 = O(x^3 y^3) = 3\sigma_3^2.$$

$$x^3 + y^3 + z^3 = s_3 = 3\sigma_3.$$

6.

$$\frac{(a+b)^7 - a^7 - b^7}{(a+b)^3 - a^3 - b^3} = \frac{7}{6}[(a+b)^4 + a^4 + b^4].$$

$$-a - b$$

$$c, \dots$$

$$c = -a - b. \quad a + b + c = 0$$

$$\frac{(a+b)^7 - a^7 - b^7}{(a+b)^3 - a^3 - b^3} = \frac{(-c)^7 - a^7 - b^7}{(-c)^3 - a^3 - b^3} = \frac{c^7 + a^7 + b^7}{c^3 + a^3 + b^3} = \frac{s_7}{s_3} = \frac{7\sigma_2^2\sigma_3}{3\sigma_3} = \frac{7}{3}\sigma_2^2,$$

$$\frac{7}{6}[(a+b)^4 + a^4 + b^4] = \frac{7}{6}[(-c)^4 + a^4 + b^4] = \frac{7}{6}(c^4 + a^4 + b^4) = \frac{7}{6}s_4 = \frac{7}{6}2\sigma_2^2 = \frac{7}{3}\sigma_2^2.$$

$$\begin{aligned}
 & a-b, b-c, c-a, \\
 : x &= a-b, y = b-c, z = c-a. \\
 & x+y+z = (a-b) + (b-c) + (c-a) = 0,
 \end{aligned}$$

$$a-b, b-c, c-a.$$

7.

$$\begin{aligned}
 & (a-b)^6 + (b-c)^6 + (c-a)^6 - 9(a-b)^2(b-c)^2(c-a)^2 = \\
 & = 2(a-b)^3(a-c)^3 + 2(b-c)^3(b-a)^3 + 2(c-a)^3(c-b)^3. \\
 & x = a-b, y = b-c, z = c-a,
 \end{aligned}$$

$$x^6 + y^6 + z^6 - 9x^2y^2z^2 = -2x^3z^3 - 2x^3y^3 - 2y^3z^3,$$

$$s_6 - 9\sigma_3^2 = -2O(x^3y^3). \quad (*)$$

$$\sigma_1 = x + y + z = 0,$$

, . . .

$$s_6 = 3\sigma_3^2 - 2\sigma_3^2, \quad O(x^3y^3) = \sigma_2^2 + 3\sigma_3^2.$$

(*)

8.

$$(a-b)^3 + (b-c)^3 + (c-a)^3.$$

$$x = a-b, y = b-c, z = c-a,$$

$$\begin{aligned}
 & (a-b)^3 + (b-c)^3 + (c-a)^3 = x^3 + y^3 + z^3 = s_3 = 3\sigma_3 = 3xyz = 3(a-b)(b-c)(c-a), \\
 & (s_3 = 3\sigma_3).
 \end{aligned}$$

$$13. (a+b+c)^3 - (-a+b+c)^3 - (a-b+c)^3 - (a+b-c)^3 = 24abc;$$

$$14. a(-a+b+c)^2 + b(a-b+c)^2 + c(a+b-c)^2 + (-a+b+c)(a-b+c)(a+b-c) = 4abc$$

$$15. (a+b+c)^4 - (b+c)^4 - (c+a)^4 - (a+b)^4 + a^4 + b^4 + c^4 = 12abc(a+b+c);$$

$$\begin{aligned}
 16. & (a+b+c)^4 + (-a+b+c)^4 + (a-b+c)^4 + (a+b-c)^4 = \\
 & = 4(a^4 + b^4 + c^4) + 24(a^2b^2 + b^2c^2 + a^2c^2)
 \end{aligned}$$

$$17. a(b+c)^2 + b(c+a)^2 + c(a+b)^2 - 4abc = (b+c)(c+a)(a+b);$$

$$18. (b+c)^3 + (c+a)^3 + (a+b)^3 - 3(a+b)(a+c)(b+c) = 2(a^3 + b^3 + c^3 - 3abc).$$

-
19. $(-a+b+c)^3 + (a-b+c)^3 + (a+b-c)^3 - 3(-a+b+c)(a-b+c)(a+b-c) =$
 $= 4(a^3 + b^3 + c^3 - 3abc)$
20. $(a+b)^2(b+c)^2(a+c)^2 + 2a^2b^2c^2 - a^4(b+c)^2 - b^4(a+c)^2 - c^4(a+b)^2 =$
 $= 2(ab+bc+ca)^3$
21. $(x+y+z)^5 - (-x+y+z)^5 - (x-y+z)^5 - (x+y-z)^5 = 80xyz(x^2+y^2+z^2)$.
22. $(x-y)^4 + (y-z)^4 + (z-x)^4 = 2(x^2+y^2+z^2 - xy - yz - zx)^2$.
- , $a+b+c=0$, :
23. $a^3 + b^3 + c^3 = 3abc$,
24. $a^3 + b^3 + c^3 + 3(a+b)(b+c)(c+a) = 0$.
25. $a^2(b+c)^2 + b^2(c+a)^2 + c^2(a+b)^2 + (a^2+b^2+c^2)(ab+bc+ca) = 0$.
26. $a^4 + b^4 + c^4 = 2(a^2b^2 + b^2c^2 + c^2a^2)$.
27. $2(a^4 + b^4 + c^4) = (a^2 + b^2 + c^2)^2$;
28. $\frac{a^7 + b^7 + c^7}{7} = \frac{a^3 + b^3 + c^3}{3} \cdot \frac{a^4 + b^4 + c^4}{2}$.
29. $\frac{a^7 + b^7 + c^7}{7} \cdot \frac{a^3 + b^3 + c^3}{3} = \left(\frac{a^5 + b^5 + c^5}{5} \right)^2$
30.
 $(x+y)^4 + x^4 + y^4 = 2(x^2 + xy + y^2)^2$; $(x+y)^5 - x^5 - y^5 = 5xy(x+y)(x^2 + xy + y^2)$.
- 6.
31. $(b-c)^3 + (c-a)^3 + (a-b)^3 - 3(b-c)(c-a)(a-b) = 0$.
32. $25[(b-c)^7 + (c-a)^7 + (a-b)^7][(b-c)^3 + (c-a)^3 + (a-b)^3] =$
 $= 21[(b-c)^5 + (c-a)^5 + (a-b)^5]^2$
33. $(y-z)^4 + (z-x)^4 + (x-y)^4 = 2[(y-z)^2(z-x)^2 + (z-x)^2(x-y)^2 + (x-y)^2(y-z)^2]$
34. , $s = \frac{a+b+c}{2}$,
 $a(s-b)(s-c) + b(s-a)(s-c) + c(s-a)(s-b) + 2(s-a)(s-b)(s-c) = abc$.
35. $a^4 + b^4 + c^4$, $a+b+c=0$ $a^2 + b^2 + c^2 = 1$.

36. , $\frac{1}{a} + \frac{1}{b} + \frac{1}{c} = \frac{1}{a+b+c}$,

$$\left(\frac{1}{a} + \frac{1}{b} + \frac{1}{c}\right)^n = \frac{1}{a^n + b^n + c^n} = \frac{1}{(a+b+c)^n}.$$

37. $n = 6k \pm 1$, $(x+y)^n - x^n - y^n = x^2 + xy + y^2$
 $n = 6k + 1$ $(x^2 + xy + y^2)^2$.

38.

$$u^3 + v^3 + w^3 - 3uvw = 27a^2(x^3 + y^3 + z^3 - 3xyz),$$

$$u = x + y + z + a(y + z - 2x),$$

$$v = x + y + z + a(x + z - 2y)$$

$$w = x + y + z + a(x + y - 2z).$$

39. , $a + b + c + d = 0$,

$$ad(a+d)^2 + bc(b+c)^2 + ab(a+b)^2 + cd(a-b)^2 + ac(a+c)^2 + bd(a-c)^2 + 4abcd = 0.$$

,

.